TONX 'IX 2 OR K78 NITIRA 10 X0 D7RY 720 — D70 NIrRyaN 9T NIRINYNL 2 TV [Nan
(nD>ARN 1'NY X7) YN DPNYY [N2N YN .WIN'WA oK TV nin ‘7D

nindin

mTon D MINY,(X)=Yer Ya(X) =Y, + )j(f(s,yn_l(s))ds , h=12,.. nmon numa (1

Xo
.(Mm7 15) ??7nwnnuin 0'RAIN 17982 — NIT'AY DI VOWN 'RIN] DY 1T NO1dNN
NYIRXIOT AXRIWNA NN97 NNJINN DX V9,1 TAIN DXV 7Y VIIDOPRY NN (2
(T 15) N a0 NNy
10).n122 7TON NTAM TN ARIYNYT [IYRY 1TON NV TAN 20 ARIYA 2 DI pwn Nk ndin (3
(nimn

NIXRINYN

3ydx + (X + y?)dy =0 7w 795 "N NS YAV DA AwN (1

y'—y=x>y mo .7ma nxiwn (2

¢ "0 NNy noan nR axnl Y '+ y =0 7w niannon annt 0'oa kxn (3
y'y=x*+Xx

.0797 D901V NIY¥NNA INWY?D '019 NNO K¥n . Y’ +8y —4y =6t TL nivxnxamo (4

(nimip 20) (x-x?)y" + (1-5%X)y'-4y = 0 Frobenius nowaamo (5

y'—1-t*+2ty—y*= 0 no (6

nN7¥Nal nnbxna
1NTN Jwnna

oA



